

Спинорный эффект Шварца

$$\hat{H} = -\frac{\hbar^2}{2m_e} \Delta - \frac{4e^2}{r} - 2e \vec{r} \cdot \vec{E}'$$

$$\vec{E} = \text{const}$$

$$V = (\vec{d} \cdot \vec{E}')$$

$$\vec{d}' = e \langle \vec{r} \rangle = \frac{3}{2} e a_0^3 \vec{E}', \text{ где } a_0 = \frac{\hbar^2}{m_e e^2}, \quad \langle \vec{r} \rangle = \frac{3}{2} a_0^3 \vec{E}'$$

$$V = \frac{3}{2} e a_0^3 E^2 = (\vec{d} \cdot \vec{E}')$$

$$\vec{E}' = \vec{E}(\vec{r}) = \frac{2e \vec{p}}{p^3} - \text{не определено.}$$

$$\hat{H} \psi = \vec{E} \psi$$

$$-\frac{\hbar^2}{2m_e} \Delta \psi - \frac{4e^2}{r} \psi - 2e \frac{\vec{r} \cdot \vec{p}}{p^3} \psi = \vec{E} \psi$$

$$\Delta \psi + \frac{2m_e}{\hbar^2} \left(E + \frac{4e^2}{r} + \frac{2e \vec{r} \cdot \vec{p}}{p^3} \right) \psi = 0$$

$$\Delta \psi + \frac{2m_e}{\hbar^2} \left(E + \frac{4e^2}{r} + \frac{2e \vec{r} \cdot \vec{p}}{p^3} \right) \psi = 0$$

$$\frac{1}{r^2} \frac{\partial}{\partial r} \left(r^2 \frac{\partial \psi}{\partial r} \right) + \frac{1}{r^2 \sin \theta} \frac{\partial}{\partial \theta} \left(\sin \theta \frac{\partial \psi}{\partial \theta} \right) + \frac{1}{r^2 \sin^2 \theta} \frac{\partial^2 \psi}{\partial \varphi^2} + \frac{2m_e}{\hbar^2} \left(E + \frac{4e^2}{r} + \frac{2e \vec{r} \cdot \vec{p}}{p^3} \right) \psi = 0$$

$$\psi = \psi_{n\ell m}(r, \theta, \varphi) = R_{n\ell}(r) Y_{\ell m}(\theta, \varphi)$$

$$\frac{m_e \psi^2}{r} = \frac{4e^2}{r} + \frac{e^2}{r^2} + \frac{4e^2}{r^2} + \frac{e^2}{r^2}$$

$$U(r, p) = \frac{4e^2}{r} + \frac{2e \vec{r} \cdot \vec{p}}{p^3} (\vec{r}, \vec{p})$$

$$\vec{F}' = -\nabla U = \frac{4e^2}{r^2} \vec{r} + \frac{2e \vec{r}}{p^3} (\vec{r}, \vec{p}) \vec{p} - \frac{2e \vec{r}}{p^3} \left((\vec{r} \times \vec{p}) \times \vec{p} \right) + [\vec{p} \times \vec{r}] \times \vec{r} + (\vec{p} \cdot \vec{r}) \vec{r} + (\vec{r} \cdot \vec{p}) \vec{p}$$

$$\frac{m_e \psi^2}{r} \vec{r} = -\nabla U$$

$$m_e \psi \vec{r} = n \hbar$$

$$V = (\vec{d} \cdot \vec{E}')$$

$$\vec{d}' = e \langle \vec{r} \rangle$$

$$\langle \vec{r} \rangle = \int_0^\infty \psi^* \vec{r} \psi dV$$

$$\vec{E} = \frac{m_e \psi^2}{2} - \frac{4e^2}{r} - 2e \vec{r} \cdot \vec{E}'$$

$$\psi = \frac{n \hbar}{m_e \vec{r}}$$

$$\frac{m_e \psi^2}{2} = \frac{1 - \nabla U / r}{2}, \quad \vec{E} = \frac{1 - \nabla U / r}{2} - \frac{4e^2}{r} - 2e \vec{r} \cdot \vec{E}'$$